DATE		DESCRIPTION	GST	QTY	RATE	AMOUNT
	Travel	Travel from workshop to site	GST	0.25	120.00	30.00
	Service filter kit	250 HRS service kit & parts	GST	1	695.23	695.23
		Engine , fuel, air filters. Coolant overflow bottle.				
	Diff Oil	85W - 140	GST	10	9.25	92.50
	Hydraulic Oil	ISO 68	GST	20	5.00	100.00
	Consumable parts	O-rings, Brake clean, Rags, Grease, Cable ties, Bolts, Degreaser, Etc	GST	1	25.00	25.00
	Labour	Drain engine Oil. Drain final drive Oil. Replace engine Oil filter Replace fuel filters. Replace air filters. Bleed up fuel system. Visually inspect belts, hoses for wear. Inspect track rollers & drive sprockets. Tension tracks. Adjust a/c belt. Remove & replace coolant overflow bottle. Top up coolant.	GST	5	120.00	600.00
		ASSET NO. XE104 HYUNDAI 380LC-9 8 790HRS				

SUBTOTAL 1,542.73

GST TOTAL 154.27 TOTAL 1,697.00

TOTAL DUE

A\$1,697.00

DATE		DESCRIPTION	GST	QTY	RATE	AMOUNT	
	Travel	Travel from workshop to site multiple times	GST	2	120.00	240.00	
	Hyundai parts	Boom bushes , seals & RHS dog bone, etc	GST	1	2,750.00	2,750.00	
	Machinist ( sub contractor)	Remove old bushes. Clean & measure up boom. Install new bushes & seals	GST	1	1,035.00	1,035.00	
	6700	HOSE DN4 500 BAR	GST	1.30	40.00	52.00	
	00.004	FERRULE DN4 MICRO HOSE	GST	2	2.50	5.00	
	804.60.404.00	STEM 7/16"JIC FEMALE DN4 HOSE	GST	2	31.00	62.00	
	C1-0707	NIPPLE 7/16 X 7/16 JIC	GST	1	8.73	8.73	
	Hydraulic Oil	ISO 68	GST	60	5.00	300.00	
	Machine Transport	Transport boom from site to machine shop & back to site again.	GST	1	675.00	675.00	
	Consumable parts	O-rings, Brake clean, Rags, Grease, Cable ties, Bolts, Degreaser, Etc	GST	1	25.00	25.00	
	Labour	Travel to site & unload boom Clean up mounting surface. Fit boom to machine. Clean up & reassemble stick. Refit hydraulic hoses & grease lines. Remove & replace H-link, pins & dog bones. Grease pivots points. Top up hydraulic oil. Test machine.	GST	26	120.00	3,120.00	

Please quote invoice number when payment is made in full by due date.

DATE	DESCRIPTION	GST	QTY	RATE	AMOUNT
	ASSET NO. XE104 HYUNDAI 390LC-9 8 782 HRS				
		SUBTOTAL			8,272.73
		GST TOTAL			827.27
		TOTAL			9,100.00
		TOTAL DUE		<b>A\$</b> 9	,100.00

DATE		DESCRIPTION	GST	QTY	RATE	AMOUNT
	Travel	Travel from workshop to site multiple times.	GST	0.50	120.00	60.00
	Hyundai parts	LHS & RHS Hammer pipes. 2 x Shut off valve/ blocks Bolts, clamps ,etc	GST	1	4,600.00	4,600.00
	8EF2	HOSE 1/2" 2WR BRAID AG EZIFLEX	GST	12	28.00	336.00
	FNP-08	FERRULE BODY C1T/2AT/C5C	GST	2	9.20	18.40
	SFFO-1308	SWIVEL STR FEM F/F O-RING SEAL	GST	2	29.00	58.00
	SGX25	SPIRAL GUARD 25MM BLACK	GST	12	9.40	112.80
	20EFG6K	HOSE 1-1/4" 6000 PSI	GST	4	298.00	1,192.00
	20GS1F-6	FERRULE - GLOBAL 1- 1/4"N/SKIVE	GST	4	71.00	284.00
	20GS-20FL	GLOBAL 1-1/4HOSE 1-1/4 C61 FLG	GST	4	114.00	456.00
	SGX63	SPIRAL GUARD 63MM BLACK	GST	4	32.50	130.00
	CP1-1616	NIPPLE 1" X 1" BSPP	GST	2	28.10	56.20
	CPB1-0808	NIPPLE 1/2 BSPP X 1/2 BSPT	GST	1	11.50	11.50
	CB27-1217	ADAPT M/F 3/4BSPX1-1/16JIC	GST	1	34.00	34.00
	CB1-1612	NIPPLE 1" X 3/4 BSPT	GST	1	11.25	11.25
	F64-131313F	TEE F/M/M FF O-RING 13/16	GST	1	62.30	62.30
	bpm-obm-0813	1/2 bsppm x 13/16 orfs B/head	GST	1	52.00	52.00
	FFH16-1GAS-M	COUPLING Q/R FLAT FACE 1" BSPP	GST	2	287.00	574.00
	FFH16-1GAS-F	COUPLING Q/R FLAT FACE 1" BSPP	GST	2	420.00	840.00

Please quote invoice number when payment is made in full by due date.

DATE		DESCRIPTION	GST	QTY	RATE	AMOUNT
	FFH06-12GAS-M	COUPLING Q/R 1/2 BSPP F/FACE	GST	1	62.00	62.00
	FFH06-12GAS-F	COUPLING Q/R 1/2 BSPP F/FACE	GST	1	98.00	98.00
	Hydraulic Oil		GST	40	5.00	200.00
	Consumable parts	O-rings, Brake clean, Rags, Grease, Cable ties, Bolts, Degreaser, Etc	GST	1	25.00	25.00
	Labour	Remove snapped bolts out of shut off block/ valve mount. Fit LHS & RHS Hammer pipes Fit LHS & RHS shut off valves. Make up new hoses from boor to stick for hammer pipes. Remove walk way & hand rail. Run new case drain hose from hitch to hydraulic tank. Make up bracket to fit case drain line & coupling. Test machine. Top up hydraulic oil level. Refit walkway & handrail.  MACHINE ID XE104 HYUNDAI 380LC-9 8 776HRS	m	12	120.00	1,440.00
		5	SUBTOTAL			10,713.45
		C	ST TOTAL			1,071.35
		Т	OTAL			11,784.80
			OTAL DUE		A\$11	,784.80